WELCOME TO



# MAGIC TEN Retail Pvt Ltd.

Life Changing plan



https://www.magic10.in

# **ABOUT US**

Magic 10, which is started its operations, is now becoming a leading direct selling company dealing in world class electronics products. Magic 10 is the product brand name of company. There are a lots of first we have undertaken. Bringing smiles and complete satisfaction in the faces of our valuable customers & our leader.



### **OUR VISION & MISSION**

#### VISION

We Constantly strive for creating an environment that is conducive in providing to high level customer awareness and satisfaction.

#### **MISION**

On Mission is to capture this exponential growing global market and give our members a chance to earn and become a benchmark in direct selling.

Value

we are Continuously focused on developing better and smarter product for your and there is a no end for getting better so we are always working to provide you next level of service.



Let's Start

Joining Just





# Joining Package

Silver ----- 10/-

Gold ----- 50/-

Ruby -----100/-

Diamond ----- 200/-

Crown Diamond ---500/-

**Directly Join Any Package** 



Let's Start ur Success Journey.

# FULL PACKAGE

860/-



**Boat Nackband** 

### **TYPES OF INCOME**

- Silver Star Income
- Gold Star Income
- Ruby Star Income
- Diamond Star Income
- Crown Diamond Income
- Fund Income
- Life Time Reward Income



## Silver Star Income

Level	Team	Income	Total
01.	10	3	30
02.	100	1	100
03.	1000	1	1000
04.	10000	1	10000
05.	100000	1	100000
06.	1000000	1	1000000

अगर आप सिर्फ 10 Direct Joining करते है ।। उसके बाद आपकी Down Line को यही काम सिखाते है। PACKAGE 10/-

Total Income 11,11,130/-



# **Life Time Reward**

Level	Team	Reward
01.	10	No Reward
02.	100	Hair Trimmer
03.	1000	Smart Watch
04.	10000	OnePlus Mobile
05.	100000	LEDTV+Bike =1.3L
06.	1000000	CarFund+House Fund=2310000

**GOA Tour** 



### **Gold Star Income**

Level	Team	Income	Total
01.	10	15	150
02.	100	3	300
03.	1000	3	3000
04.	10000	3	30000
05.	100000	3	300000
06.	1000000	3	3000000

Gold Star Income लेने के लिए आप और आपकी टीम को Gold Start Income Upgrade करना पड़ेगा ।। PACKAGE 50/-

Total Income 33,33,450/-



#### **Gold Reward**



# **Ruby Star Income**

Level	Team	Income	Total
01.	10	30	300
02.	100	6	600
03.	1000	6	6000
04.	10000	6	60000
05.	100000	6	600000
06.	1000000	6	6000000

Ruby Star Income लेने के लिए आप और आपकी टीम को Ruby Start Income Upgrade करना पड़ेगा ।। PACKAGE 100/-

Total Income 66,66,900/-

# **Ruby Reward**



## **Diamond Star Income**

Level	Team	Income	Total
01.	10	60	600
02.	100	12	1200
03.	1000	12	12000
04.	10000	12	120000
05.	100000	12	1200000
06.	1000000	12	12000000

Diamond Star Income लेने के लिए आप और आपकी टीम को Diamond Start Income Upgrade करना पड़ेगा ।। PACKAGE 200/-

Total Income 1,33,33,800/-





#### **Diamond Reward**



#### **Crown Diamond Income**

Level	Team	Income	Total
01.	10	200	2000
02.	100	20	2000
03.	1000	20	20000
04.	10000	20	200000
05.	100000	20	2000000
06.	1000000	20	20000000

Crown Diamond Income लेने के लिए आप और आपकी टीम को Crown Diamond Income Upgrade करना पड़ेगा ।।





#### **Crown Diamond Reward**



#### **Fund Income**

Sr No	Fund	Extra
01.	1000	50/-
02.	2000	120/-
03.	3000	150/-

If you want fund from company Send Min 100/- maximum 3000/-

#### I'D Activation:-

Min -- 100/-Max -- 3000/-



### TERMS & CONDITIONS

- Minimum Withdrawal Rs. 200/-
- Withdrawal Time –10:00 Am. To 2:00 pm.
- V Product Delivery Charge 50/-
- √ 15% Deducted For Rewards
- √ 5% TDS Charges
- Maximum 11 ID Allow In One Number



